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Chemistry: Solutions Unit Test Review
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NAMING AND FORMULA WRITING
1. Write the formulas of the following compounds:

a) strontium phosphate S\r "{‘ b) copper (l) carbonate Qu'
e T @ L3 s

c) nitrogen trllodld‘e,‘_\'\—/‘_ d) lithium nitride

CNI5 | LigN Lt//nN
2. 'Write the names of the following compounds: ———/_’L/—
~a) MgsP» b) N2Og ;
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C) ZnS0O, d) CUC'Z
zne sullede copper (D) dhlmid e
CONCENTRATION

3. a)Define solute —M so\\A \M'mﬁ (;A‘sso\\letn.-

b) Define solvent: Thy \‘Wé c\,q)u\,) ‘“M AASSolVM3

lv
c) Define concentration: Tiae W OQ solute N e MWW+ "'( =0 u’“
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d) Draw and label a picture that illustrates the definitions of solute and solvent:
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4. On the left beaker, draw a solution that is more dilute than the beaker in the middle. On the
right beaker, draw a solution that is more concentrated than the beaker in the middle.
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5. What units should be used for each of the following:
a. Molarity
b. Molality

C. MolarM“asé %ZMQL



Moles_ywnole pv ol o wales
Mass of solvent

Volume of solution L

Freezing Point °C

Solubility _4/10 09 ¥, 0
MOLARITY

6. Determine the number of moles in the following:
a) 4.5 g of MnO b) 78.3 g of Ni(NO3),
wioloy VWSS 30.93 F ' ' ._VL""’\M wugs |1¥2.3103
wioles - | 0.0u3y | | waoles }0.M29

7. A soluthn has a volume of 250 mL-and contains 0.70 mol NaCl, What is its molarity?
M = N\CQ so\w’\t = « 0 mv‘_,_ _ a'% M
L solwhom 0,20 Lo

8. a) How many moles of solute are present in 50.0 mL of 0.20 M KNO3?
O.20 M= x wao\-Ls ' .
—_ = X
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b) How many moles of ammonium nitrate are in 335 mL of 0. 425 M NH4NO5?

O.425 M = _x wwoles 0. \UL woles
0.335 L Ly J

9. To what volume should 5.0 moles of KCl be diluted in order to prepare a 0.25 M solution?

Ov25M = 5.0 woles =l | I
Ko - x =20 L-
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10. Calculate the molarity of a solution containing 400 g CuS04.in 4.00 L of solution.
rqvm‘r HOO M = Q 500k M\CS
0 L
wilar 154,409 T 4o
wwles . 50b _
MOLALITY
11. Calculate the molality of a solution prepared by dissolving 10.0 g NaCl in 600 g of water.
o ' = 0.lF waoles
lgvams [10.0 | WM T =

0.L0O0O ko

wolar wass | 5% .. Y43
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12. Calculate the molality of a solution prepared by dissolving 2.3 g of A|P04 in 2.4 kg of ethanol.

|, ﬁms N 2.3 LO-O‘%C‘ woles = o 00?%5 wA
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PPM AND PPB
13. What is the concentration in ppm if 3.4 x 10°® g of CaCl, is dissolved in 2.5 kg of water?

b
2.4 % \D L -
&2 3 _xI10° = 0.0013b ppM
2500 4 LLt()
14. What is the concentration in ppb if 1.5 x 107 g of AlBr; is dissolved in 550 g of water?

(\.Sx\o-ﬂq—ﬂxloq = 0.002] Wb
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COLLIGATIVE PROPERTIES — FREEZING POINT DEPRESSION
15. Determine the freezing points of each solutlon below asyu ng a concentration of 0.20 m:
C

a. K50. atp = (0. 20Vl %/ K,K<So
LT_;‘- '("“‘Y‘%Y‘”h € - - \ Wi °c. ) *
b. CH : \
: iTG = (O 70 VWY\ 4] OO/M\(‘B c’lu“‘ W cova ‘M*‘
= - 0.332°%C
c. AINOs); o 3 \ NO, V0, , MO
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16. What is the freezmg point of a solution of 25.6 g of CaBr, in 1000 g H,0?
o mis g = (0- 128156 )
= O 1€ wes g
graws __\2%:.6 T kg - - 0. FHOC
molav mass |[99.8€6
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SOLUBILITY
17. What is the solubility of CaCl, at 30°C? o
wove Haom \ooﬁc;cﬂ_t/\oo q U0 =
18. a) If you add 30 grams of KCl to 100 g of g
water at 50°C, what type of solution do £
you have? -ig
u,v\r,a, {'Li g
b) If you add 30 grams of KCIO3 to 100 g %
of water at 50°C, what type of solutiondo 2
you have? b
" w«:ws«l«md'ui
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c) If you add 30 grams of K,Cr,07 to 100 g 0 10 20 30 40 50 60 70 80 90 100
of water at 50°C, what type of solution do " Temperature (°C)

you have?
bwntid

19. You have a saturated solution of KCl in 100 grams of water. If you cool the saturated solution
from 70°C to 10°C, how many grams of precipitate will form?

~49 o = 304 = "'\q%
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